ELECTRICAL - INSTRUMENTS

3.252

GROUP NO. — DESCRIPTION — YEAR and MODEL RONERD DR TAET cone
ATTACHING PARTS
Headlamp To Fender
SCREW, Tapping....... 60 01 (10 Req.): 60 10-20-80 (10 Req. -Singl e
Headlamp){8 Req. Dual Headlamp)......c.ovu.n. 17.666 AR G161651 NA
SCREW, Toppinge.s..... 61 Thru 63 01-10-20-80....... (Replaces 800 0095) 17.671 12 G456766
SCREW, Tappinge.cs... 64-6501 (8 Reg. ): 64-65 10-8C
(12Reg. =10-12 x 5/8) tiuiiveruannesncsonnnne weenes AR 400 0478
SCREW, Tapping..eee.. 6510 (12-M1 /2N, i e s veteeten s iansonans 17. 671 12 400 1042
NUT, Spring..vevvnnn.. B0 0 oo o G B e i E BB E s « o v o sonaoaanraorass 4 aEmeE 10 3123436
NUT, Spring «.vovnnnn. 60 10-20-80 (10 Req. -Single Headlamp)(8 Req. -Dual
Headlamp): 61-62 10-20-80 (12 Req.) ...ovvvves o AR 310 2850
Headlomp To Mounting Plate
SCREW, Tapping....... < 1P e X N 17.671 12 4001031
Adapter To Fender (Single Headlamp) ;
60 10-20 ARGl oo oo ARl L L st s e e e 1 342 1794
ATTACHING PARTS
Adapter To Fender
SCREW, Tappingeeeees. 60 10-20-80 .. cvinrrnneninnnas (Replaces 800 0095) 17.671 8 G456766
WASHER, Plain........ 60 10-20-80 ..ttt turenrnennsronsnsrosessnssnsanas 17.814 8 G120391 NA
NUT, Spring..uoeeee.... B0 10-20-80 ... .vtireeereerenncnensesononnencases ausane 8 310 2850
PANEL, Headlamp Mounting
(Left) 64 MDEB0: ik c oo o cns s s e e e oo anenoe ibphh il we ¢ oo @il s dimvaies AlhabG 1 350 9273
(Left) 65 TF KB ann . BRI Lo o ni ek e ke sroRas 12.075 1 351 5719
(Right) 64 MBI - s e o o ok v e coevonaneneeess o LG atnnn i, BT B a4 1 350 9272
(Right) 65RIEIE TERE s Ge B - v el e s oo s oscnssnnosansassaes 56 aempen s iasl 12.075 1 351 5718
ATTACHING PARTS
Headlomp Mounting Panel To Grille Panel
SCREW, Hexagon....... 64 10-80 .ottt i e e e et e e e e 12,075 4 400 0424
3.248 BODY, Headlamp
60 Q1 ... ol il okl o MBS dis s oo BEF S L B el TR 2 320 0895
61 Thru 63O I0E, . B O i SRR B AR AR e s s R S 2 320 2471
64 01 o o added B8 Sl o ot it it i ettt e e e (QEREN 2 320 5363
61-62 10-20: 61 80 (Note 3.245-1 Type 1): 62
B0 ettt e e e e e e (Replaces 320 2711, 320 2759) ...... 4 320 2702
61 80 (Note 3,245-1 TyPe 2). i v uiuirnetereeoneassnetonneenronensenanasoaen vaeens 4 320 2765
63-64 10-80 (Note 3.245-1 Type 1): 6580 (Note 3.245-1 Type 1) vviirvirnnene  wunenn 4 320 4074
63-64 10-80 (Note 3.245-1 Type 2): 65 80 (Note 3.245-1 Type 2) ...vviivivens vannns 4 320 4306
6510 ............ Bof Bnsil oo sioledl, SWeriy ot 0RI00 A0, el gestiionh A 2 320 5610
(Single Headlamp) 60 10=20.. ... cevunreeniiiieiineaenennnnn TELE VG Pl |, 2 311 8663
(Dual Headlamp) 60 10 (Note 3,245-1 Type 1): 602080 . «vvvvuirirrnininenees  wreens 2 320 0997
(Dual Headlamp) 60 10 (Note 3.245-1 Type 2) e tur e vnneniennnennnenennnnnae  saeens 2 320 1147
BRACKET, Body To Door
61 10-20 (Note 3.245-1 Type 1): 62 10-80 (Note 3.245-1 Type 1) ieurerisnvnne sovers 12 320 2757
61 80 (Nof€i3. 24550 Type 1), ... tenentn e orarmmss ossnss womnn oy s - ot sd s 12 320 2764
3.252 DOOR, Headlamp
6001 ... cdmea .o DRI pepnleal) e s ap whn - - - el B 2 313 6399
61 Thru 6FVBER N . oo vt et e e oo oo TR N sl WSt TR R A 2 344 6617
6401 ... i e e b ML SR K meadA] LRI 2 350 0852

Copyright 1963 American Motors Corp.
F-14063 Rev. 7 - 24 - 65
Gr 3 - 45

Printed in U.S.A.



